CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) The progression of development of children in primary years is from
(1) simple to complex
(2) abstract to concrete

(3) global to local
(4) specific to general
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_125_Q1]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following is a ‘sensitive period’ for language development ?
(1) Early childhood
(2) Middle childhood

(3) Adolescence
(4) Pre-natal
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_125_Q2]

1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) The process by which children learn their societal role is referred to as
(1) socialisation
(2) assimilation
(3) accomodation

(4) adaptation
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_125_Q3]
1 [Option ID = 9]

2 [Option ID = 10]

. 3 [Option ID = 11]

4 [Option ID = 12]

A W N -

4) At which stage of cognitive development do children begin imitation and achieve object
permanence 7

(1) Sensorimotor
(2
(
(

)

) Preoperational

3) Concrete operational
)

4) Formal operational
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_125_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

3 [Option ID = 15]
4 [Option ID = 16]
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5) In Jean Piaget’s theory a child who perceives the sun as being alive because it gives out light
is demonstrating

(1) animistic thinking

)
(2) centration
3) irreversibility
)

(
(

4) object permanence
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_125_Q5]

1 [Option ID = 17]

2 [Option ID = 18]

3 [Option ID = 19]
. 4 [Option ID = 20]
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6) Which of the following concepts is not proposed by Lev Vygotsky ?

(1) Zone of Proximal Development
(2) Schema

(3) Scaffolding

(4) Social Interaction

= T & F17-HT FHeTA T T A6 ZTT TaaT=y dgl s 2

(1) =HToEsT =0T =7 &
(2) =T

(3)yaTE

(4) FTHTIST ST

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_125_Q6]

1. 1 [Option ID = 21]

2. 2 [Option ID = 22]

3. 3 [Option ID = 23]

4. 4 [Option ID = 24]

7) Which of the following statements is a correct pedagogical implication of Lev Vygotsky's theory

?

(1) Encouraging competition among students rather than collaboration

(2) Encouraging desired behaviour through rewards and reducing undesired behaviour
through punishment

(3) Scaffolding the students by providing appropriate prompts and cues

(4) Promoting association between stimulus and response
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_125_Q7]

. 1 [Option ID = 25]

. 2 [Option ID = 26]

1
2

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) According to Kohlberg the first stage of moral development is characterised by

(1) Seeing rules as fixed and absolute
(2) Maintaining affection and approval of others
(3) A duty to uphold laws and rules for their own sake

(4) Abstract universal principles that are valid for all humanity
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_125_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]

3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) In a progressive classroom

(1) children are forced to learn according to the prescribed syllabus.
(2) children engage in activities that realise their potential.
(3) children are labelled and segregated based on their abilities.

(4) children work to get rewards and avoid punishments.
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_125_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Which of the following type of intelligence was described by Howard Gardner ?

(1) Generic Intelligence
(2) Linguistic Intelligence
(3) Physical Intelligence
(4) Specific Intelligence

7 & 7 e w7 9 T T30 gias e g AT T 47 2

(1) =THT giZ
(2) e T
(3) wrfa= iz
(4) faforee giF

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_125_Q10]

1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) In a primary classroom the teachers should ‘private speech’ — self talk that guides
thinking and action.
(1) encourage
()

(3) ignore

(4) punish children for

discourage
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_125_Q11]
1 [Option ID = 41]
2 [Option ID = 42]
. 3 [Option ID = 43]
. 4 [Option ID = 44]
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12) Seeing the role of boys at home and in the society, Mohan refused to play the role of a girlin a
program organized in the school, saying that because he is a boy, he will not wear a girl’s

dress. It shows

(1) Gender role flexibility
(2) Gender equality

(3) Gender mobility

(4) Gender typing
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_125_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) The process of teaching and learning for students of differing abilities in the same class is

referred to as

(1) differentiated instruction

(2
(3
(

4) conditioning

standardized instruction

stimulation

)
)
)
)
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_125_Q13]
1 [Option ID = 49]
2 [Option ID = 50]

3 [Option ID = 51]
4 [Option ID = 52]
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14) In socio-constructivist classroom what is the primary mode of assessment ?

(1) Recall-based objective type tests
(2) Collaborative projects
(3) Standardized tests

(4) Norm-referenced tests
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_125_Q14]
1 [Option ID = 53]
2 [Option ID = 54]
. 3 [Option ID = 55]
4 [Option ID = 56]

AN wnN -

15) The most important objective of the assessment of learners is

(1) To reflect on the effectiveness of the pedagogy and modify it to enhance learning.
(2) To complete one of the tasks assigned to teachers.
(3) To complete records and registers.

(4) To create same ability grouping in class.
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_125_Q15]
1 [Option ID = 57]
2 [Option ID = 58]
3 [Option ID = 59]
. 4 [Option ID = 60]
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16) Providing choice and options to students from a range of activities and experiences based on
their interests, needs and diversity of learner’s background, follows the principle of
(1) inclusion
(2
3

(
(4) exclusion

labelling and segregation

)
)
) competition

)
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_125_Q16]
1 [Option ID = 61]
2 [Option ID = 62]
. 3 [Option ID = 63]
. 4 [Option ID = 64]
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17) Which of the following does nof promote cultural sensitivity in class ?

(1) Organising activities related to different cultures
(2) Encouraging sharing of experiences by students about their culture
(3) Celebrating festivals of dominant cultures only

(4) Accepting and respecting diverse backgrounds of each student
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_125_Q17]

1. 1 [Option ID = 65]

2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Challenges in reading texts and comprehending long passages is a challenge for students with
(1) dyscalculia
(2) dyslexia
(3) hearing impairment

(4) dysgraphia
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_125_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the learning materials is nof suitable for children with hearing impariment ?

(1) Audiocbooks
(2) Printed books
(3) Videos with subtitles

(4) Three-dimensional charts and maps
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_125_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
3 [Option ID = 75]
4 [Option ID = 76]
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20) What type of questions should a teacher ask in order to identify creative children in her class ?

(1) Fill in the blanks
(2) Multiple choice questions
(3) Questions with right and wrong options

(4) Open-ended questions
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_125_Q20]
1 [Option ID = 77]
2 [Option ID = 78]
3 [Option ID = 79]
4 [Option ID = 80]
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21) Itis important to experiences that a child brings to school.
(1) ignore
(2) dismiss
(3) build on
(4) disregard
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_125_Q21]
. 1 [Option ID = 81]
. 2 [Option ID = 82]

1
2

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]



22) How do children learn ?
(i) Making and Doing things
(i) Reading and Writing
(i) Talking and Listening
(iv) Thinking and Reflecting
1) (i), (iv)
2) (i), (iv)
3) (i), (iii), (iv)
4) (i), (ii), (i), (iv)
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(1) (1), (iv)
(2) (iii), (iv)
(3) (i), (iii), (iv)
(4) (1), (i), (i), (iv)
[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_125_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) In which of the following class are students likely to learn well ?

(1) Teacher emphasizes passive reception of knowledge.
(2) Teacher believes only children with high |Q can do well in academics.
(3) Teacher allows children to follow their own pace of learning.

(4) Teacher follows standard curriculum for all children.

T Feare § A=t sga & |5 |HiE ?

(1) forer=s st & TSR S=ia=r 9% &< 3AT ¢ |

(2) Torea= \TeaT 8 & Fae 3= qig @fed aTer 9= I et = § d=57 F7
qHA 3 |

(3) Torerer F==1 &l IAH! T &F AT AEad i A Iq72 |

(4) foreres AT T==1 & o0 ATAHHT TEI=AT FT TTAT FH7aT ¢ |

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_125_Q23]
1. 1 [Option ID = 89]




2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) When teachers include experiences of children and give examples from their socio-cultural
context, it fosters a sense of in children.
(1) belonging
(2) inferiority
(3) anger
)

(4) alienation
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_125_Q24]
1 [Option ID = 93]
2 [Option ID = 94]
. 3 [Option ID = 95]
. 4 [Option ID = 96]
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25) The processes of problem-solving is promoted through
(1) analogical thinking
(2) passive imitation
(3) response set

(4) functional fixedness
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_125_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]



26) Children's misconceptions and errors

(1) are extremely detrimental to teaching-learning process
(2) show their irrational ways of thinking
(3) serve as significant inroads to childrens’ thoughts

(4) confirm their inferiority to adults
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_125_Q26]
1 [Option ID = 101]
2 [Option ID = 102]

3 [Option ID = 103]
4 [Option ID = 104]
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27) is @ sign that the learning activities have become mechanically repetitive for the

child and are not of interest.
(1) Joy

(2) Curiosity

(3) Excitement
(4)

4) Boredom
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_125_Q27]
1 [Option ID = 105]
2 [Option ID = 106]

3 [Option ID = 107]
4 [Option ID = 108]
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28) Assertion (A):
Learning should be facilitated by inducing fear of punishment in children.

Reason (R) :
Rewards and punishment are highly effective in ensuring meaningful learning.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_125_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
29) Which of the following factors affect learning ?
(i) Interest of the students
(i) Perceived relevance of the concept
(iiiy Development level of the students

(iv) Strategies of teaching-learning
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(1) (i), (i)
(2) (i), (iv)
(3) (i), (iii)
(4) (i), (i), (i), (iv)
1['Q:J¢[e;;it?or:] |I|; :=121§]][Question Description = CTET_P1_PART_1_CDP_SET_125_Q29]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Which of the following statements is correct about the interaction of person, environment and
behaviour in learning settings ?
(1) Personal factors have no effect on the elements of environment.
(2) All three forces — personal, environmental and behavioural are influenced by each other.
(3)
(4)

4) Feedback from the environment cannot affect self-esteem of the individual.

Behaviours seldom affect social environment.

e & T FI=-Ar Fyu9 dorgq o Ry § =tE, aEeEer 7 =229gw 5 §fi9
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_125_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET



1) | am a four-digit number less than 2000. My first digit is one-fourth of the third digit (from left)
and last digit is 8 times that of first. If the sum of first three-digits is 7, identify me.

& 2000 ¥ TIET TF AW FHT AT HEAT § | T TgAT FF (AN F) A FF A7
TH-ATITE g TAT AT FF TIH & &7 8 AT 2 | TR TIH 77 FAH1 H1 TEFA
7 2, a1 7L g fifer |

(1) 2481
(2) 1842
(3) 1428
(4) 1248

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) There were 15 families in a flood relief camp. 300 kg of rice has to be distributed among the
families. If it was distributed equally among all families, how much rice will each family get ?

T g wrga F0 F, 15 i ) 29 ofaret § 300 kg AT FT FIET [T
| T =7 AT FT A TRET H FHE T F FiE GO0 g, 97 TodF 7iEr w;
PR =T e ?

(1) 20 kg
(2) 15 kg
(3) 35 kg
(4) 30 kg
[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]



3) Two numbers which are in the ratio 11 : 17 have LCM 4675. These numbers are respectively

(1)55 and 85
(2) 275 and 425
(3) 165 and 255
(4) 330 and 510

=T HETAT 67, ST 11 0 17 F Aqaa H g, LCM 4675 8 | T Hemo 99T 8

(1) 55 & 85

(2) 275 #iT 425
(3) 165 #iT 255
(4) 330 &= 510

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]
4) A ten-digit number 774858 N1 96 Nz is divisible by 8 and 9. Then, the values of Ny and Nz can
be respectively
(7,8
(2)0,8
(3)5,8
(4)6,4

T SR T T HEAT 774958 Ni 96 No, 8 &7 9 | A9 2 | 74, Ny &1 No &
HIT FH: TN T 2
(1)7,8
(2)0, 8
(3)5, 8
(4)6, 4
[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q34]
3o 13

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) What is the sum of the place values of digit 4 in the number 5432413 ?

(1) 400004
(2) 400400
(3) 404000
(4) 400040
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(1) 400004
(2) 400400
(3) 404000
(4) 400040

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) The sum of the smallest five-digit number and the largest four-digit number is
(1) 19089
(2) 29999

(3) 10999
(4) 19999

B 0 B T e R e e 0 e e o 1 B e o e o e e e 7 T i

(1) 19099
(2) 29999
(3) 10999
(4) 19999

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

1
) Which direction will you face, if you start facing East and make 15 of a revolution clockwise ?

(1) North
(2) South
(3) East

(4) West
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T2 T T AT IT T 2 AT TE A R F 5 A i w1 g, 91 T
R AT g I ?

(1) F9T
(2) =T

©kel
(4) 7feaw

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q37]

1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) 1 2

Value of (55 - 25] right-angles is equal to
(1)210°
(2) 240°
(3) 270°
(4) 300°

1 2 " =
(5—2§]maﬁvﬁa?rnﬂwg

(1) 210°
(2) 240°
(3) 270°
(4) 300°

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q38]

1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9) The number of lines of symmetry in a kite is/are
(10
(2)1
(3)2
(4)4



o I § AT CETE 6 HE/EE 2y
(1)0
(2)1
(3)2
(4)4
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q39]
. 1 [Option ID = 153]
. 2 [Option ID = 154]

1
2
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) Priya went to a shop with a 2 500 note. She purchased one soap, one toothpaste, one hair
oil, one shampoo and one comb for 2 36, T 85, T 110,

Z 160 and ¥ 13 respectively. She gave to the shopkeeper ¥ 500 note and he returmed her
¥ 95. She checked and found that

(1) Shopkeeper has returned Z 1 less.

(2) Shopkeeper has returned 1 more.

(3) Returned amount is correct.

(4) Returned amount is Z 9 |ess.

T T T T 2500 FT AIE AHT TE | TAA TH ATEA, TF AU, TF He 0w
ST ATAT T, T 9T 31T T FH T FHI: 2 36, 2 85,

Z 110, 2 160 1Y 2 13 T TLI=T | IAT THIARTT 1 2 500 FT {12 =TT 30T 09 295
IH ATOE T30 | I8 S T AT T

(1) THFEETE 7 21 F7 109 FHATE |
(2) TFVETE 7 T 1 SAfes Ao FFar g |
(3) =TT F¥ TE T TE 2 |

(4) AT HTTE WA 9 FAZ |

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Mr. Hari made a will in which he gave his two children Arya and Bharati plots of sizes 20 m x
80 m and 30 m x 80 m respectively. But the children were not happy. The correct reason can

be

(1) Arya was unhappy as he felt that area of Bharati's plot is more.

(2) Bharati was unhappy as she felt that perimeter of Arya’s plot is more.
(3) They thought that areas of their plots are not equal.

(4) Arya was unhappy as he felt perimeter of Bharati's plot is more.



T 2 F vF awag &, B Il a9 = a=a910 A AT 9EAT i FH
20m x 90 m #1730 m x 60 m FTA Tl R0 | o T=7 oA AH 109 o Zq Tl
T | Hel FHTLT T qFAT S

(1) 9T Feor AE1 AT, FATh TH AT 2 ATLAT % Al F FA0 ATAF 2 |

(2) ATAT For AET AT, FATH I AV A F TS H AT ATEF 2 |

(3) TRT TE=T AT % I OHiEl T SAHel THIA 75l ¢ |

(4) AT T AT AT, T T AT 2 ATEAT 3 TATE 7 TEATT FATEF 3 |
[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q41]

2. 2 [option b - 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) Water is filled in a tank, using a pipe such that after each 1 minute water level rises by 2 cm.
Keerthi started measuring the height at 9:45 am. At 9:47 am, height of water was 23 cm. What
was the height of water level at 9:40 am ?

(1)9 cm

(2)10cm
(3)11cm
(4)18 cm

=refT 27 & U IeT F IHAn 7 9T g9 T 9 9°Er g F aeww 1 fe
9Tt FT &7 2 cm SAT 33 STaT g | Hifd § 39 S=12 W 9:45 am 97 HIUAT
STew 3T | 9:47 am 7% 9T #it SATE 23 om off | 9T F T A S=TE 9:40

am 9% 7 o ?

(1)9 em

(2) 10 cm

(3) 11 cm

(4) 16 cm
[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]

3. 3 [Option ID = 167]
4. 4 [Option ID = 168]



13) The blood groups of 25 students of a certain class of a school are as follows :
A, O ABAB O A 0O A B OB A, AB,
AB,A,B A B O B AB A OB
What is the difference of the number of students having blood groups Aand AB ?

ED RS
oW N =

et =t 1 U T % 25 ety F v o A= R ggae g
A, O A B ,AB, O A O,A B, O, B, A, AB,

AB, A, B,A B, OB, AB, A OB

THT T A T AB ATr FEA=ntaaT i STl F d9T F4T Y 2

(1)1

(2)2

(3)3

(4)4
[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) What is the difference between the average and range of the observations
32,41, 34, 35, 26, 23, 28, 33, 38 and 40 ?
(13
(2)4
(3)6
(4)8
TEA 32, 41, 54, 35, 26, 23, 28, 33, 38 T 40 F AT T IHT FT AT
FATE?
(1)3
(2)4
(3)6
(4)8
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Observe the following pattern :
B =2 %13
77 =24+25
117 =60 + 61
and soon,

Now what should be the missing numbers in the equality
17°= +__ 2

(1) 84, 85

(2) 104, 105
(3)134, 135
(4) 144, 145

remforfae = 1 sraareT Hife

5°=12+13

7°=24+25

11° = 60 + 61

TeATfR,

&, AT 17° = 4 o HET T g AT 2
(1) 84, 85

(2) 104, 105

(3) 134, 135

(4) 144, 145

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1 1
V' Faiza says that 3 is a greater fraction than 5
Which of the following is most appropriate for the error made by Faiza ?
Itisa

1) Procedural error

(
(2) Conceptual error
(3) Careless error

(

4) Language error



TR E B o HAET A R

T ZT Y 7 77 qf F B Al § § Se-a g9t ST 2
T UF |

(1) FrEAETEF =

(2) AFETEITHT {2

(3) TTITATEN & g€ e

(4) o i A
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q46]

1 [Option ID = 181]
2 [Option ID = 182]

3 [Option ID = 183]
. 4 [Option ID = 184]

A

A wWw N =

2) According to National Curriculum Framework, 2005, the mathematics curriculum should be

(1) Coherent and Static

(2) Ambitious and Static

(3) Static and activity-oriented
(4) Ambitious and Coherent

T T5EAT w9eET, 2005 F AGATE, 00T TTEE, T AT |

(1) T & =
(2) FEgmaTHET AT #iaE
(3) =afa= s wfafaftear o= F5T

(4) TE=ATHEAT ST TEIT

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]
3) Which of the following can be considered as a base to develop “algebraic thinking” among
primary grade learners ?
(1) Starting with simple patterns of repeating shapes and then moving to complex patterns
involving numbers.
(2) Using graphical method to introduce algebraic equations.
(3) Introducing algebraic identities to solve the problems.

(4) Emphasizing the use of algebra in daily life.



TTATE FeT & AfeRHEAren § CHiw - Ha @ BEtw o w % o
e & & fSeehr ang™ F =7 foan S &6ar g ?

(1) Eptaat 1 qAeET 3Te 97 Tl o J 0T F997 @7 5T 08 Jiea
gt =t AT FE7 oma d@erd o oanfeer 2t

(2) =TS FHTFTT T ate= 39 % oo arht (sArerdt) &t 7 Soamr F7T

(3) FHEAT FT ZA FHIA & T FATS(T FAATHHTAT T TE=T =47 |

(4) 37 Sra= ¥ A0 F STIET T2 T 3497 |

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q48]

1. 1 [Option ID = 189]

2. 2 [Option ID = 190]

3. 3 [Option ID = 191]

4. 4 [Option ID = 192]

4) When asked to multiply 25 by 7, a student adds 25 seven times. Which of the following

statements is correct with respect to the given context ?

(1) The use of formal algorithm needs to be emphasized over informal strategies.
(2)

(3) The student has creatively extended the knowledge of addition to multiplication.
(4)

4) The student has no conceptual understanding of both addition and subtraction.

The strategy used by the student can not be assessed by the teacher.

ST& 25 &1 7 F [T 7 & frw =gl 47 q4 U fH=nedt 91d a1 25 Fi Sear g |
et Fae1 § § F19-a1 [Ru 70 gad 9512 ?

(1) #FTI=T IETAT F 9T @091 Faq-1a1e F ITAN 92 T 34 il
HETHAT |

(2) F=mft gy Su=EnT #it 2 gET F e gy drwee qgt AT ST aEar g
|

(3) =TT & goATeRT =9 7 T07 FT AHH T 0 a0 FHega v g |

(4) FE=mT 3 9T AT S ST J1 AT AT F TH 751 2 |

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q49]

1. 1 [Option ID = 193]

2. 2 [Option ID = 194]

3. 3 [Option ID = 195]

4. 4 [Option ID = 196]

5) Children’s mathematical reasoning abilities at primary level can most appropriately be inferred
by
(1
(2
(3
(4

step-by-step completion of questions given as home task
achievement in regular MCQ-based tests

analysing their errors

" o e e

memorising of formal algerithms



TTATHE 7 9T T=A1 il A0 TH-AFAT T TATEF ITIFTAT 7
F ZTT FIHTH AT ST HFATE |

(1) g Fr & forg R 70 99t T F207 32 F90 T A
(2) FgiaFed 1 W7 97 AT Hatsd Tt § Therar
(3) I AT 7 FEveraor
(4) =TT Ferm-tatd 7 F50 F7A
[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Which of the following is/are responsible for fear and failure in mathematics according to
National Curriculum Framewaork, 2005 ?
(a) Predominance of symbolic language
(b) Cumulative nature of mathematics
(c) Gender-Specific abilities
(d) Formative assessment techniques
Choose the correct option :
(1) Only (d)
(2) (a) and (b)
(3) (b} and (c)
(4)(a) and (c)

TTCAT ITET=AT =9ET, 2005 5 JAT Meatatag § § F-97/3 T § 997
(@) ST AT T T

(b) it it w=ft v

(c) siEe-fAfare grEaard

(d) THATTHS ATHAT AT (TUTTTHT)

gt AFeT 1 577 e

(1) A (d)

(2) (a) & (b)

(3) (b) &7 (c)

(4) (a) @7 (c)
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]




7) While deducing the area of a parallelogram from a rectangle, the most common transformation
that a teacher does to relate the formula of area of these two shapes is
(1
(2
(3
(4

Flip
Rotation

The transformation is not possible

T e S e

Translation

T e F Y ataT Fgae w1 aahe e g, g99 qT U w0 iaa
ST TOrerh 2+ STHT ATH a1 5 STt o A1 1 He (G Foel o [0 Fedl g, A2 8

(1) FerET

(2) T

(3) T BTG 99 751 &

(4) TATATTET
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q52]
. 1 [Option ID = 205]

. 2 [Option ID = 206]

1
2
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) Which of the following statements is true for teaching of Data Handling in primary classes ?

(1) It should not be introduced as students of primary classes won’t be able to handle the data.

(2) It doesn'’t relate to mathematical concepts in arithmetic and geometry.

(3) It can be introduced informally in primary classes as students of primary classes can relate
it to their daily life experiences.

(4) It demands higher cognitive skills which are not possessed by students of primary classes.

Ao 991 3 F -7 ITIHS FATA J A Hel 7 TaGT & [0AT & Ta

HHAEE ?

(1) 3T 9fv=g TEi 39T AT Fits =T A1 & ot st #r
HATe A2l qTu |

(2) g FFTIOTT ST ST § O T AT F 69E Tl g |

(3) zFFT wTAfaF FeArAt H A=A = T giv=y FAr S g9 g witw
TTAteE FATA F F=mefl e e 3RF S| F Aqwal 7 SE 796 2 |

(4) T T= HATATHT FI9T *T ATAT TGAT g S ITATHF FeATA & A== =
T T2l gl g |

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q53]

1 [Option ID = 209]

2 [Option ID = 210]

3 [Option ID = 211]
4 [Option ID = 212]

A W N -



9) Which of the following is not true for the use of manipulative aids in mathematics at
upper-primary level ?
(1) They help in understanding complex concepts in mathematics.
(2) They are used to utilize leisure time in a mathematics classroom.
(3) They act as a pedagogical resource for assessment.
)

(4) They help in concrete representation of abstract concepts in mathematics.

TRt § 7 F1-HT I== ITATHF FT T (07 H S0 T JTHUT 5
YN F AT H J21 Agh e ?
(1) 3 aTfora T S{ee FFATOmEAr T FHAT H G52 F94d 2 |
(2) T IYANT 10T T FAT H GTeAT FAT F&ar F oo Fram sar g |
(3) THT YA ATHAH H [0 T TITA0LTE T HATE F = H #H77 7471 2 |
(4) 7T o1 T ST ATATIOMA & T TeqA 0T § H3% 79 ¢ |
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q54]
.

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) ‘An elastic band of 10 cm length is stretched by 5 cm. What is the new length of the elastic

band 7
Hemlata presents the above word problem to the students in her class. The underlying concept

that she is referring to is
(1) Addition
(2) Ratio

(3) Multiplication
(4) Proportion
10 cm w3 TV I FT 5 cm T ST ST 2 | A e S wE
?J

SHAAT AAT FeAT H A=A F a6 300 eaTeAl 94T ¥eqd ®al g | 99

(1) =T

(2) g
(3) T

(4) FRTIT

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q55]
1 [Option ID = 217]
2 [Option ID = 218]
. 3 [Option ID = 219]
. 4 [Option ID = 220]

A W N -



11) Fallowing is the conversation between two students about their mathematics
class :
A: Lots of questions were going round in my head but | was too scared to ask
them.
B: | feel scared of asking questions in mathematics as | would look stupid if |
got it wrong.
The situation depicts :
(a) A teacher-centered classroom

(b) Lack of fearless environment in the mathematics class
(c) Excuses made by most of the students in a mathematics classroom

(d) Lack of conceptual understanding of the teacher
Choose the correct option :

(1) (a) and (c)
(2) (b) and (d)
(3) Only (c)

(4) (a) and (b)

wr= 2 A==t % fi= et afte it Far F a7 F g wrHEaE RErman g
A FX AIETSF § 9gd § 997 97 7g T T T T | T T T30 AT |
B: # wf0ig § 997 TgA H agd $YA1 § FITH g avrar 2 Atz F

TAT U AT Fol A ATFEH T FgATe oA |
g HATS FAT IS99 F2aT1 g ?
(@) HEATTFH-Hlvad FHET
(b) TOTE T FHeAT H FIIGT ATZIA *l FHT
(c) TTOTe ¥ FeaT § exferanier FH=ntEar ar a9y 10 age
(d) HeaTT= Y ATUTIONAT F I F9T § FHT

el fAaseT &1 =47 W ;

(1) (a) 9% (c)

(2) (b) &% (d)

(3) F4 (c)

(4) (a) 31 (b)
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]




12) According to the National Education Policy (NEP), 2020, the important principle for imparting
quality education and making children self-learners is

(1) Learning what to learn

)
(2) Learning where to learn from
3) Learning how to leamn
)

(
(4) Learning whom to learn from

et forar i (NEP), 2020 3 S@Te, UET T84T W2 &9 e a=41 #l
A S TRTHEAT & o forT wEeAt gt 2

(1) =g AT & =1r =T 2

(2) g HrEaT & Figt 7 g1 g

(3) =g HiaeT & 9 figar g

(4) 7g HiaEaT & s Jiaar g
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Which of the following is important for a teacher while teaching “Estimation” ?

(1) Teacher must explain that there is one best way to estimate.

(2) Teacher should neglect the answers of students whose answers are farthest off from the
estimated answer.

(3) Teacher should motivate the students with the closest estimate.

(4) Teacher should give space for a range of reasonable answers followed by a discussion.

e forere F TorT “srEn” & Torer & |aae MeAtoiey o & I 98yl ¢ ?

(1) forerss =1 78 T SR & AT A9 F U A AN 2

(2) forer =1 39 A=t & I A SUAT FEAT A0 w39 aqareT
I H FTH ST E |

(3) Torer= =1 3 Fa=mi=t 1 Trearted F2A71 J1ieu S a8 q99 e g
|

(4) forer= =1 Afds ai=T 3930 F 0w (39) & ™0 9397 9319 #90 9ien
TTHTA 39 T F=1 HoAl A2 0 |

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]



14) The primary objective of a diagnostic test in mathematics is

(1) To emphasize parents to keep home tuitions for the child
(2) To prepare report-cards of the children
(3) To understand the child’s learning gaps in mathematics

(4) To distribute children in different sections of a class

T | A= 9T T YA AT 29T 2
(1) TaAT-ToaT F1 F== & {10 77 97 =199 v F o & 297
(2) F==1 #r FOE-FTE I

(3) iU & == T HiEd | Tg TS HaAT 5 TH9T
(4) T==1 =1 Fe * fAfeeT =<t (Frer) | afedr

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q59]
1 [Option ID = 233]
2 [Option ID = 234]
3 [Option ID = 235]
4 [Option ID = 236]

A WN -

15) A student in a mathematics class says that a square is both a parallelogram and a rectangle.
He further says all rectangles are also parallelograms. According to Van Hiele's theory of

geometric thinking, the student is at which level of geometric thinking ?

(1) Relationships
(2) Analysis

(3) Visualization
(4) Axiomatic

T 7 FAT 7 T =T Far g T vE a9, UF a9iaT Iq9s 47 UF 91T
AT T | A AT Fgam g A% AT T FHAL TGS 219 @ | 39 gof -l AT
=aw & Mg & agar, B, soadr Haa s sErar g ?

(1) FaZar
(2) FArearor
(3) gt
(4) Tt

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_125_Q60]
1 [Option ID = 237]
2 [Option ID = 238]
3 [Option ID = 239]
4 [Option ID = 240]

A wWw N -

Topic:- EVS_Q61-75_P1_CTET



1) The Edible part of tapioca plantis A and this is grown abundantlyin _ B . Aand B
respectively are
(1) Leaf, Meghalaya
()

(3) Root, Kerala

(4) Flower, Tamil Nadu

Stem, Kashmir

1

=TT (FETET) T FTA-AT B9 A g fT9g B H YgT HEAT
SAATHAET E | A T B FH9T FTE ?

(1) o=, HETA

(2) €5, 9T

(3) g, F=aT

(4) =T, ATHAATE

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_125_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) Deficiencyof A causesanaemia. B and C  arerich sources of A
A, B and C respectively are

(1) Calcium, Milk, Eggs
(2) Iron, Milk, Eggs

(3) Iron, Spinach, Dates
(4)

4) Calcium, Spinach, Dates

A FTFHT T TH-OTAT (TANHAT) grarg de _ B 941 _ C AFIEA

HTE | A, B#HT CHIM FTE ?

(1) FieorTH, 34, &<
(2) AT (ATF7H), T4, &S

(3) AR (AATH), TTA, TE
(4) Fieem, a1, TST

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_125_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3) Anjali travels from New Delhi to Thiruvananthapuram in a train. Which of the following rivers
will she be crossing during her train journey ?

(1) Narmada, Godavari, Ganga

3) Narmada, Krishna, Godavari

)
(2) Yamuna, Damodar, Krishna
(3)
(4) Yamuna, Mahanadi, Godavari

srorfer 75 FReeft & fAeadaTaq ¥ 37 917 5T @0 8 | AUAT I AT F
g efertaa § 7 o a3t & T ?
(1) =T, AR, T

(2) T, FTHTET, T
() AT, FoT, TR

(4) TEAT, FETART, TR

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_125_Q63]

1. 1 [Option ID = 249]

2. 2 [Option ID = 250]

3. 3 [Option ID = 251]

4. 4 [Option ID = 252]

4) Crows make nests on a tree using pieces of wood but X which does not make its own

nest lays eggs in the crow’s nest. X is
(1) Indian Robin
(2) Weaver Bird
3)
(4) Sparrow

Koel

FT AFET F Gle-GIe ZHET AT TEAATT F2F TAT TT ATAT FIHAT T 2 AT
_ X 9T AT A5 aATA T g W AT e U A H g | X FAE ?

(1) ATt Tt

(2) sperreT =fEaT (33m)

(3) FrT

(4) e
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_125_Q64]
1 [Option ID = 253]
2 [Option ID = 254]

3 [Option ID = 255]
. 4 [Option ID = 256]

A W N =



5) In__ X  districtof Y | lir, rosewater and kewra water are prepared on large scale. X and

Y are

(1) Madhubani, Bihar

(2)

(3) Worli, Maharashira

(4) Solan, Himachal Pradesh

Kannauj, Uttar Pradesh

Y FHRe X #, T, A A AT FAET T ggd g THH 97 997 Fo

STa 2 | XFATYFTE ?

(1) e, g
(2) FATeT, THT T39T

(3) AT, FETTE

(4) ==, T@aT=e 9397
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_125_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Assertion (A) :
A boiled egg put in 2 mug of water sinks whereas it floats when put in salt water.
Reason (R) :
The density of egg increases on boiling.
Choose the correct option :
(1) Both (A) and (R) are correct and (R) is correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(3) (A) is correct and (R) is incorrect
(4) Both (A) and (R) are incorrect

7T (A) :
IIAT AT HAST TAT H FT AT H STAT SMU, 97 T F FEAT g FAh 794F ATeq
UTHT § STET 910 97 T8 ST 9247 2 |

T (R) :
S AT IATA AT IT FHHT =ed 92 AT g |
GEIREET e o

(1) (A) 9 (R) 517 ot £ 9 (R), (A) ¥ et =T &
(2) (A) 9 (R) ST &t 2 afeet (R), (A) 1 =1 7 3
(3) (A) 7 & 1 (R) T &
(4) (A) 9% (R) ZTt & 7o &



[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_125_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
4 [Option ID = 264]

A W N -

7) Nowadays we see many wells which are completely dried up. What could be the main reason
for this ?
A. People have started installing boring pumps in the nearby areas of
the wells.

B. The soil in the nearby areas of the wells are concretised.

C. Water from wells in not used as it is contaminated.

(1)Aand B
(2)Aand C
(3) Only B
(4)Only C

AEHA gH <ad g 06 qgd | U T T 7 qT TH ¢ | T R F AT I
FAT 2T THAT 2 ?

A. I H FU F THGET AT H A1 T8 [ 9% 7 =70 2

B. F&i ¥ A-uTH F &= H AT FHE A g w2

C. T =T U1 T 204 3 FT007 ST H Tl AT FAr 2 |

(1)A & B
(2)AdEC
(3)F=T B

(4)F97 C

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_125_Q67]
1 [Option ID = 265]
2 [Option ID = 266]
3 [Option ID = 267]
. 4 [Option ID = 268]

A W N -

8) One of the common methods to prevent mosquitoes breeding in rainy season is to put
kerosene on stagnant water. The reason for this is
(1
(2
(3
(4

Kerosene cuts off oxygen supply to mosquitoes
Mosquitoes are trapped in kerosene

Kerosene contains substance which kills mosquitoes

T e e St

The smell of kerosene repels the mosquitoes



TET g 5o 77 THET 1 a9 Treran A¥ATT F AT F G=g7y F TS HLnA H
TS ATHT TR | T80T T F0T 2 2

(1) T2 5 9 & H=mwl A AT AT AT qIed gl Sl g
(2) F=a g F AT H FH 919 2

(3) ™Y % o1 | U UHT 7= gAT 2 S H=gAl A A 34T
(4) Tt = Fer 1 7 gl w1 AT T2

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_125_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Which of the following States/Union Territories have coastline on Bay of Bengal ?

(1) Karnataka, Maharashtra, Kerala

(2) Odisha, Tamil Nadu, Andhra Pradesh
(3) Puducherry, Karnataka, Goa

(4) Daman, Puducherry, Telangana

feaforfaa & & Fi9- TsT/4FwF aTied T397 9T H FTET o qEE@T uT g ?

(1) T, AETE, F7

(2) Arfem, Af¥aaTg, A T=A
(3) TS= T, Fiem, MaT

(4) =99, g, TERHAT

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_125_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) In a village in India, houses are made up of thick walls and are plastered with mud. The roofs
of the houses are made of thorny bushes. This village is likely to be in a

(1) desert region
(2) snowy region

(3) high rainfall region
(4)

4) forest region in the plains



ATTT % UF T4 § T30 Fil AT AHAT T JET 2l g &A1 gt § qeft grev 2 1
T T A Gd HieaT ATEAT F F9Te 91 2 | T W & MT AHae 7 &
FAHE?
(1) T7EqeT &=
(2) fifer &=
(3) &Afer =T ATer &=
(4) F=TT TATHT F AT A
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_125_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Assertion (A) :
Sweet Potato is a root.
Reason (R) :
It stores food.
Choose the correct option :
(1) Both (A) and (R) are correct and (R) is correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(3) (A) is correct and (R} is incorrect
(4) Both (A) and (R) are incorrect

AT (A) -
STl TH TE ¢ |
7% (R) :
Tg AT (AT TRTY) Hufed FAT 2 |
(1) (A) ST (R) 0T HET & 317 (R), (A) it F21 2A02A7 &
(2) (A) AT (R) =TT HET & 160 (R), (A) H7 Fgl =00 7L g
(3) (A) 5T & @i (R) T
(4) (A) &% (R) =TT & 179
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_125_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



12) Assertion (A) .
In Jhoom farming, weeds are cut and burnt instead of pulling out.
Reason (R) :
Ash mixes with soil which increases soil fertility.
(1) Both (A) and (R) are correct and (R) is correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(3) (A) is correct and (R) is incorrect
(4) Both (A) and (R) are incorrect

AT (A) -

H A FAT H, GTTAATIN FT IATET F T T2 FIE &7 et =77 Simar g |
7% (R) :

w1 gt § e st 2 o & gt fit saar ag i g |

(1) (A) T (R) T IET 2 &7 (R), (A) A T8 ==AT 2
(2) (A) 3 (R) ST Tt € @ (R), (A) Ft T2 = 781 8
(3) (A) FET & &% (R) o7 2
(4) (A) &7 (R) 01 T
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_125_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]
13) Assertion (A) :
Earthworm is referred to as a farmer’s best friend.
Reason (R) :
Earthworms destroy the weeds.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



AT (A) -
AT FERETHT AT F A= {5 e v g |
T (R) :
(1) (A) S (R) =TT AT € 31T (R), (A) it 71 20207 §
(2) (A) ST (R) T &ET § 100 (R), (A) 7 2t 22041 75 @
(3) (A) & & T (R) 11 &
(4) (A) T (R) =TT T4 &
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_125_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Rajiv wants to make compost in his home. Which of the following type of waste should be put
in the compost pit ?
(1) Aluminium foil, Vegetable peels, Egg shells
(2)

(3) Vegetable peels, Polythene, Paper

(4) Aluminium foil, Milk packets, Newspaper

Vegetable peels, Filtered tea leaves, Paper

TS JIT TT F FHE (ATEA s FTE) FAT Jrgar g | Aefefea § |
FIA-H FITE q2TT ITHT FFIve (02 | T F1ie0 ?

(1) TerfE s 9=, Feata fEes, di % G
(2) Feata e, Tt ge =19 it 9f=at, F0
(3) Feata e, Tiferdie, Fmre

(4) TAATH T, TH F THe, ¥EATT

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_125_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) A seedis
(1) living as it is product of plant
(2) non-living as we can cook it
(3) living as it can grow into plant

(4) non-living as it does not respire



EiE]

(1) =St g FIH 98 MT FTAWE

(2) fAsfta 2, it g9 0 U5 95d ¢

(3) #efta g, AT 7g UF 914 | Jig F7 a1 g

(4) fRsfta g, a7 & 7 9997 781 a1 g

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_125_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) Which of the following should be done by EVS teacher while assessing students 7
A. Write qualitative statements about students.
B. Focusonly on a few aspects of students.
C. Make record of information with focus on learning potential of students.

D. Compare previous record of students
Choose the correct option :

(1)A, B, C
(2)A, B,D
(3)A, C,D
(4)B,C,D

TF TATE ALTAT f9ers F g7 g=a1 & A § A F 7 = G

TMRT ?

A. =T F AL H POTHT FAT Tera T |

B. a==i % 9% 33 &1 74T 9 Hfad g |

C. F==1 &t Hg" FT FHAT UT AT Fivad Fod g0 ST
araforfas T |

D. F=41 % T4 ATHer@l it gaaT F7AT |

ol fawed g

(1)A, B, C

(2)A, B, D

(3)A,C,D

(4)B, C, D

[Question ID = 211][Question Description = CTET_P1_PART_3_EVS_SET_125_Q76]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]



2) Which of the following is an important feature in school field trip in EVS teaching ?

(1) Awakens students’ interest to learn and get new learning information.
(2) Both teacher and students get a break from regular teaching-learning practice.
(3) The funds for teaching-learning are properly utilized.

(4) Parents feel happy to see their children going on picnic.

A= & & Fra-Ar AT wemae forerr ¥ Prrmerdt 5 99or FT Hgea o ae
g?

(1) =TT | 4T SAT8RTH ST @ 0 7 drET Hi 5= SO

(2) B & forers, 191 1 Watea Jraa-fEarm St aiwar § gt Fedr
&

(3) foreqmr sxfemme = forg 978 =1 921 IUART F747 |

(4) Frae F==1 % TUHTF 9T S0 g0 T ATHATAF H7 T~ g7 |

[Question ID = 212][Question Description = CTET_P1_PART_3_EVS_SET_125_Q77]

A W N -

1 [Option ID = 845]
2 [Option ID = 846]
3 [Option ID = 847]
4 [Option ID = 848]

3) EVS curriculum has followed a theme-based approach to

(1) cover wide range of concepts in one go.
(2) save resources.
(3) help in assessing knowledge of children holistically.

(4) enable students to be concerned about society and nature both.

AT AT TEAEAT | AU areanid SO F 9T #7416 v g ?

(1) T 27 F1< | HI2F | STees Fsheawa it TO0 AT |

(2) HETEAT T FHTET |

(3) F==1 T AT T FT AT ATFHAT F7AT |

(4) T4t =1 FHTsT o T T % A1 § Fagaefier samET |

[Question ID = 213][Question Description = CTET_P1_PART_3_EVS_SET_125_Q78]

1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3.

4. 4 [Option ID = 852]

3 [Option ID = 851]

4) In the context of EVS teaching, NCF 2005 does nof propose

(1) Hands-on-activities
(2) Thematic approach
(3) Linking students’ experience and context

(4) Knowing technical terms



T deade o ¥ Haw §, NCF 2005 #it 9=a1a+T Agie
(1) =% HrEa FreT TiaEtEat
(2) FETT-HET T
(3) FE=nfa= % saa 7 #2597 SArEAT
(4) AT TEETAAT T STAAT
[Question ID = 214][Question Description = CTET_P1_PART_3_EVS_SET_125_Q79]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]

3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

5) In the teaching-learning of EVS, poems and stories are effective because they can

A. nurture curiosity in children.

B. nurture aesthetic sense in children.

C. provide contextual learning environment.

D. explain various abstract environment.

Choose the correct option :

(1)A,BandD
(2)B,CandD
(3)A,BandC
(4)Aand B

T e frerr-afenry F§ wEarar | wgrmar w1 agey g =i
A. F==i ¥ =T AT g 2|

B. =41 # #i=7 are FAafaa grar g |

C. =1 &I H3(9d ATATH ATATEZ0T T2 AT g |
D. & a7 am@Eo it s gt 2 |
el fawed 71 -

(1)A, B #= D

(2)B, C #%D

(3)A, B#vC

(4) A #T B

[Question ID = 215][Question Description = CTET_P1_PART_3_EVS_SET_125_Q80]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]




6) Environmental studies education for primary students intends that

(1) Students become less inquisitive.

(2) Students become more inguisitive.

(3) Students make fewer mistakes.

(4) Students develop good drawing and writing skills.

STt Rt % o gwEer sreage e afssmy mar g &

(1) F=eft =9 e Er )

(2) FE=mft samaT SrE Et |

(3) FA=mft s et #51)

(4) F=mdt =g ET=E a9 T T R Aw g Fie

[Question ID = 216][Question Description = CTET_P1_PART_3_EVS_SET_125_Q81]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]

7) EVS pedagogy advocates the following practices except

(1) Capacitating students for critical thinking and problem solving.
(2) Acknowledging textbooks are superior over actual life experiences.
(3) Promoting collaboration amongst students.

(4) Nurturing the creativity and curiosity of students.

TEAT AAAE § POraAmere [e § 7 adt S99 w5 a9y F7ar § ham
(1) A=t Fr 79w Far & F aueraaeas =Ha vg a9 99T #i7

o |
(2) ITETIETHT 0 AT ST & ATAT T AL AT |
(3) =TT & W T F2T4T 347 |

(4) F=rTtoaT T ST ST FoTeaar HT qrar FHEA |

[Question ID = 217][Question Description = CTET_P1_PART_3_EVS_SET_125_Q82]
1 [Option ID = 865]
2 [Option ID = 866]
3 [Option ID = 867]
. 4 [Option ID = 868]

A W N -

8) What do we call the folder in which students put their worksheets, observation reports and
other materials collected during a term ?
(1
(2
(3
(4

Portfolios
Anecdotal records
Project

File

T e e e



TF Tieer BEH FEE v 99 F au9 sEeEE, JFaeET Oe TE i99

(1) TrEFTeraT

(2) SITATTHS ATHaaT
(3) THrTSTAT

(4) =T

[Question ID = 218][Question Description = CTET_P1_PART_3_EVS_SET_125_Q83]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

9) Why is ‘Community’ important for teaching-learning in EVS at primary level ?

(1) It is an easily available resource.
(2) It comprises wise and elderly people.
(3) It provides learning opportunities in a real setting.

(4) It does not need any funds for expenditure.

TTATHF ¥ 07 TAE 0 FEAdT § FEATTH-ABH oy T 94 1l g ?

(1) T2 STATHT 7 ITeT=4 FATEA 2 |

(2) 298 2 AT AHATT ARG 3 |

(3) T areatas afeaer § Higd T /w1 2q1 ¢ |

(4) ==+ form Bt i & == Y Araeawar a2t g |

[Question ID = 219][Question Description = CTET_P1_PART_3_EVS_SET_125_Q84]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]
10) Which of the following represents characteristics of an EVS textbook ?
A. It caters to the needs of students from diverse backgrounds.
B. It contains true stories and incidents.
C. It presents natural and socio-cultural content in an integrated manner.

D. ltfocusses on explanation of abstract concepts.
Choose the correct option :

1A, BandC
2) A only

3)B,CandD
4)A,CandD

e, e,



TF TET0 AEITT 00 TS (HH g | 7 Hiq-A1 A9r2ar 2o g 2
A. T1g fafEy qeagis & =it i s 1 219 7941 2 |
B. ZHH ATEAAh FRIAT AT HEAT0 2 |
C. Ig THEd BT F UTHids A HTHNSIH-IEhdH (497 Tedd
FTAT 2 |
D. Tg AHA TFHTATH 1 AT T7 154 2 |
CRANCETR L
(1A, B &= C
(2) FaT A
(3)B, C & D
(4)A, C#TD
[Question ID = 220][Question Description = CTET_P1_PART_3_EVS_SET_125_Q85]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]

3. 3 [Option ID = 879]
4. 4 [Option ID = 880]

11) ‘Do this and find out’ in different topics of EVS book aims at

(1) keeping students engaged.
(2) providing hands-on experience to students.

(3) learning scientific terms.
(4) attaining learning outcomes through good performance in examination.

TTATI FEIT [EAFT § (ATSeT W0l | HA F H W Iee T 2
(1) TRzt &7 o F9T H
(2) TRt 7 FTH-H T T dGET T F7AT |
(3) AT TSTFHAT &l H@AT |
(4) oA § I T 31T FATAE Tl H I AT |
[Question ID = 221][Question Description = CTET_P1_PART_3_EVS_SET_125_Q86]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]

3. 3 [Option ID = 883]
4. 4 [Option ID = 884]



12) Which of the following are objectives of studying EVS ?
A. Enabling students to learn and recall key terms and distinctions.
B. Enabling students to do questioning.
C. Enabling students to reject each other’s culture.
D. Enabling students to grow into responsible citizens.
Choose the correct option :
1A BandC
2)Band D
3)A,BandD
4)A,CandD

e e

e & & FI9- T FEIAT ST 2

A. =it 1 qeg faegat #1912 F39 @i 399 97 F79 & oy
TATE FTAT |

B. TA=mE i wew qmw % form afea e |

C. TA=miE=t =1 U= g T 6Ohiq 1 A 1 Fild 6 {00 977 77
|
D. TR=nfat st == aerhe g9 |
el faweT 99 :
(A, B#*C
(2) B & D
(3)A, B @ D
(4 A, CHTD
[Question ID = 222][Question Description = CTET_P1_PART_3_EVS_SET_125_Q87]
. 1 [Option ID = 885]
. 2 [Option ID = 886]

1
2
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]

13) In NCERT textbook of EVS, priority and space has been given to

(1) Provide opportunities to learners for contemplation and wondering.
(2) Explain basic concepts of the subject.
(3) Explain definition of key terms.

(4) Include large number of practice sheets.



AT FETAT it NCERT T a3 & =reit #47+ Rar 72

(1) =t = gee-Haa 7= F o e 39 F o)
(2) FATT it ATHT=T SHeaaTal it ST FHLd & o7 |
(3) v TeigEr =1 qieariud F27 % o |
(4) AATer= T H AT T T F2A & (17 |
[Question ID = 223][Question Description = CTET_P1_PART_3_EVS_SET_125_Q88]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]

3. 3 [Option ID = 891]
4. 4 [Option ID = 892]

14) NCF 2005 has not recommended any textbook for EVS for classes | and Il. The most
appropriate reason/reasons is/are
A. to provide contextual learning environment.
B. as students of class | and |l are very young to learn EVS.
C. EVS is suitable for class |l onwards.
D. to reduce load of curriculum on primary grade children.
(1)Aand D
(2)AandC
(3yBand D
(4)BandC
FAT | A7 1l F 7= d2799 °, NCF 2005 T #irs 5 qeda e 7t &t
A. fa=mefT |=ise afdms afaer 7 #aq g |
B. F&T | &7 |l % =¥ vata=zm aeaa g 5 T aga e g |
C. TAF70 FeTaT F4AT-11 F I2i9 3797 T |
D. S8 T47 F TF1 FT T5A=97 % A 5T 77 FAT ¢ |
()AZTD
(2)AdTC
(3)B ™D
(4)B&C
[Question ID = 224][Question Description = CTET_P1_PART_3_EVS_SET_125_Q89]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]

3. 3 [Option ID = 895]
4. 4 [Option ID = 896]




15) A competent EVS teacher uses pedagogical processes which are

(1) True to child’s life.

(2) True to subject.

(3) True to school.

(4) True to child's life and subject.

T T TAEACT AFAT forerw Ag g ST U foramemeAta wtEmATAr SN

FLAT/FIAT g S

(1) T==T F AT AT Sa9 F TH 1T 31 |

(2) ATeATA=F AT | Heiad 21 |

(3) =TT | ATEATA® A1 77 Gaie 2l |

(4) FTEATEF T T T=A1 & S A7 =T |7 F=6aa 2 |
[Question ID = 225][Question Description = CTET_P1_PART_3_EVS_SET_125_Q90]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]

3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

Topic:- HIN_Q91-99_L1_P1_CTET

") fREer ; fEfofEa TEre #1 9EET qF T T & ag/AaE 39 997 I
o #1 a0 |
ATSTHA TS-T2 FA-FET, STFTATT FTAT A IAAAT (AW AAT T ATIHSA
H JTTETTE SgAidt 2Ty AT FL T80 3 | T SREATATAl AT Frogren |
T B AT TTHT AAT THIE F Tt o7 Tl o Ioh T80T F = F J{=41 §
ITE= ST ST 72T & S AfRA7 &F i 5ef FT ATT 5497 7871 g | THh FATAT
HEH1 9T ZSd ATgd, 6T Al AT Tgiiad T T8 47 27 TTI0 F JI4T7 HI=T 7
T2 2 | T AR ATFET F HAF TEAT T a9 AT UF FST B A9 @1 2
FATh TTOTATY AT F ST F FAT TgT 0 Foad T A7 721 0 S T |

FTLHST H 010 T AHeE B ST ATAT (A0 1 gar0 e Fefl 721 8 ?

(1) FraTar i et

(2) FAETHI T ATt

(3) TS-TE FA % FLAT

(4) FTETH AT TARTLATATY
[Question ID = 121][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]




2 fAder ; fafoad T #1 UG GF T TAT F TE/AEE ST I AT
Ao #r AT |
ASTHA TS-TE FA-FIEET, ITEATATE AIAT gAT It HHiTa 7 IR
H U SIgiet gary TATRT FL T2l 2 | T SRRt e Fragrr 7
T £ AT T S THT F T TR 6 9 q F = F A &
ITE= ST 5T 7T & ST 141 & i oeq Kl ATT a97 781 g | THH FATAT
TEH! UL IISd ATEH, IAHT g4l AT Fgirat I 47 29 T390 § A7 d9g03 F7
T2l 2 | T AT AFAT F HAA TEAT FT 75 AT TF FiST B A9 @l 2
T TTIETY 5 AT F S Tew o THT TZA A1 Foadr S 71 =0 o1 T |

AT F ATYTE 9T ATRAT & T Al TZ0T 77 718

(1) FETEl § FFaa ardl Sgiiel a1
(2) FreaTl 7 e arar gt

(3) =<1 & Frrerer JTer ATTEre TETd

(4) FTETH | e A1 T 9% a0

[Question ID = 122][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]

3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

3) fRder : Fufafas = 1 T7FT 78 T T4 ¥ ag/aaE g 397 79
o #1 FiA0 |
ATHA T-T FA-HILE, SURITATT HATAT AT ITAAT (A4 o ATLHSA
H JTTETAF Sgiiel g1t TATed F2 720 2 | Z7 STNITAral A Froam=l §
TAF Bl ATAT TTHT @qF T o gt iol TagA1 7 qoh A9 & =7 § =297 §
FTZ=F ISAT ST 7T g ST AFRTT F ATHIaw STer 1 AUT F97 72T 8 | THF AATAT
AEF 9T IS ATEH, IAHT Al AT Tgre T 9 A7 T80 T5I0 H 47 30 F¥
TRl © | 3F FTaCH ATHHAT T qEF TEAAT FHT a9 TET7 TF FioT w8 a7 g1 8
T T o FATE T S=7 F FTF Tged i1 Fodqr 67 7l =l 91 The [ |

ZH | FA-HT A4 TZOT FT F14F Tgl e 2

(1) AT
(2) T
(3) FTETH
(4) =T

[Question ID = 123][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q93]
1. 1 [Option ID = 489]



2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

4 fRder : AEforfaa T=rer F1 9gF T8 77 T4T F ag/FaE 9w I9% I
Ao #1 A7 |
ATSTHA TS-T8 FA-FILE, SURITATT HATAT AT Il (AT AT o ATLHSA
¥ gTorTeE ST gaTt WA #% Tl F | T gEwarandt # srarar §
Tk B+ ATAT TTHT @ T 5 gt (ol THEFAL | Ioh A9 F =T F qi=91 §
STg=h ST §T TgT & Sl ARl & Trehiaeh 5o 1 AYT o971 €5 g | T danar
HAEF 9T IS ATEH, JAHT Al AT Tt 9 A7 T8/ T5IW H 47 30 F¥
T2 2 | T AR AFRAT T HIAT TEAT 7T 55 T TF Fi5T B9 o9 @1 2
T TTOMETY *F FATE F ST=7 F FTF Tg i1 Fodqr G 721 =00 91 The [ |
T & AATT F AT F TGT Tg H Foaar €1 qg1 F1 51 TFhat | q=r §
AT TF F BT 9 T 64T ST JhaT &

(1) FAT
(2) srgufeats
(3) srfaerraT

(4) AT

[Question ID = 124][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]




5) fAder ; feforaa T #T 9EET G T TAT F TH/AEE S IAT AT
Ao #r AT |
ASTHA TS-TE FA-FIEET, ITEATATE AIAT gAT It HHiTa 7 IR
H U SIgiet gary TATRT FL T2l 2 | T SRRt e Fragrr 7
T £ AT T S THT F T TR 6 9 q F = F A &
ITE= ST 5T 7T & ST 141 & i oeq Kl ATT a97 781 g | THH FATAT
TEH! UL IISd ATEH, IAHT g4l AT Fgirat I 47 29 T390 § A7 d9g03 F7
T2l 2 | T AT AFAT F HAA TEAT FT 75 AT TF FiST B A9 @l 2
T TTIETY 5 AT F S Tew o THT TZA A1 Foadr S 71 =0 o1 T |
TR & AT GT FIAHT AHAN T AT FEIAT FTAFAT AT | a5 T

(1) 9T BT T30 ST 78 ATHH T | JIHS H7 A2y 952 5 2 |
(2) ATHES F TIOT 24 F F7 9 T AT T T ¢ |
(3) TETEAT Fort 1T BT ST T A & AT AT dE 6
(4) AT TEI % IO AT TEAAT 97 AHe GIAT o ¢ |

[Question ID = 125][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

6) fRder : fAwfafaa Temer #1 T5%7 [ T0 J497 & agi/aay S9gw a7 70
e i FAT |
HTHT TS-T8 FA-HET, TURTITATT SATAT Al STAAT (AT AT o ARHST
H ATTATAH STeLidt gars TATed F7 T80 2 | TF SAWLTATSAT S Fredm=i |
T4 SIA ATAT TTHT AAF THE F T TEIAT T I 97 F = F 7= F
IEAF IST I TGN SN ARAT F ATFAF T FT AGT I97 721 2 | T96 dAraw
HEHT TT F(Sd ATgA, ThT gt AT Tt 9 67 28 IO F 7T 9= F7
TZI 2 | TH FTACRT AHRAT F qFA AT 71 97 A7 UF FHiod 54 a9 g1 8
AT T o AT T S F TFT Tg 0 Foqar A7 721 00 1 T |

‘T 5 TH T
(1) J7oh 2=

(2) FeTH or=x

(3) TATTATHT 9755
(4) FTEH-TATIF 9T

[Question ID = 126][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q96]




1 [Option ID = 501]
2 [Option ID = 502]
3 [Option ID = 503]
4 [Option ID = 504]

7 fRder - fAwfafaa 7= #1 U7 {8 T0 J497 & agi/aay ST IO I
faFeq T FH0 |
ATHA -T2 FA-FAT, STEITATT AT A ITAAT (HH AT T ATIHSA
H ATTATAH STeLidt gars TATed F7 T80 2 | TF SAWLTATSAT S Fredm=i |
T §IM ATAT TTHT AT THIE 6 T (o Tl qoh SAT90T F = § =91 §
ITE=F ST ST 7T ¢ ST AfRAT F TrHia §ef T ATT F497 7871 & | THF FATAT
HEHT TT F(Sd ATgA, ThT gt AT Tt 9 67 28 IO F 7T 9= F7
TZI 2 | TH FTACRT AHRAT F qFA AT 71 97 A7 UF FHiod 54 a9 g1 8
T TTOTATY 6 ST F S F FHT T2 0 FoadT A7 721 =0 S T |

HTTTH H THH FT AT T

A W N -

(1) g2 7919
(2) f27 79

(3) I°L=T AHTH

(4) Tgate T

[Question ID = 127][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]




8 fRder : fEferaa TE F UEET [ T T4 F Gg/aas I9gw I AT
Ao #r AT |
ASTHA TS-TE FA-FIEET, ITEATATE AIAT gAT It HHiTa 7 IR
H U SIgiet gary TATRT FL T2l 2 | T SRRt e Fragrr 7
T £ AT T S THT F T TR 6 9 q F = F A &
ITE= ST 5T 7T & ST 141 & i oeq Kl ATT a97 781 g | THH FATAT
TEH! UL IISd ATEH, IAHT g4l AT Fgirat I 47 29 T390 § A7 d9g03 F7
T2l 2 | T AT AFAT F HAA TEAT FT 75 AT TF FiST B A9 @l 2
T TTIETY 5 AT F S Tew o THT TZA A1 Foadr S 71 =0 o1 T |

(1) T=F

(2) 75
(3) &mTE

(4) ForeT
[Question ID = 128][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]

3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

o) fRder : FAaferfaT T=mer 1 7297 78 T THT ¥ ag/Aa8 U 397 79
o #1 FiA0 |
ATHA T-T FA-HILE, SURITATT HATAT AT ITAAT (A4 o ATLHSA
H JTTETAF Sgiiel g1t TATed F2 720 2 | Z7 STNITAral A Froam=l §
TAF Bl ATAT TTHT @qF T o gt iol TagA1 7 qoh A9 & =7 § =297 §
FTZ=F ISAT ST 7T g ST AFRTT F ATHIaw STer 1 AUT F97 72T 8 | THF AATAT
AEF 9T IS ATEH, IAHT Al AT Tgre T 9 A7 T80 T5I0 H 47 30 F¥
TRl © | 3F FTaCH ATHHAT T qEF TEAAT FHT a9 TET7 TF FioT w8 a7 g1 8
T T o FATE T S=7 F FTF Tged i1 Fodqr 67 7l =l 91 The [ |

FETA 975 H AT g

(=
(2) =
(3) =
4

[Question ID = 129][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q99]
1. 1 [Option ID = 513]



2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- HIN_Q100-105_L1_P1_CTET

") fader ; REfofad FEar #F 8% 95 7 T4 & gZ/Aa9 39g 397 70
fAFe #1 AT |
FTg =Tk HLAT T2 997 AT,
ST Tg THE 217 | 35497 98 99T g |
T ATL S UF | gl AT g
ST 92 qT94AT 38 A0 | A=44F 91 awe 2 |
wiaar # e gartea Far g ?

(1) THET SET F:

(2) AT AT

(3) AT FT

(4) =TT FT
[Question ID = 130][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

2 fader ; [AeEfafad #faar #9297 75 70 T4 F Tg/aad 394w Ia< a7
fAFeT # FAT |
Tz =Afeh (AT TE T27 AT g,
ST g TH g | TEA1 4 qIAT 2 |
SEET R IRSE T R O B e R
ST €2 94T 38 AT | AT=4F 97 e 2 |
e 7 B A T T = AT g ?
(1) AT 2T A H FF e hl JT1
(2) ATFLIH ZTT AN H TF Fed
(3) wrgfH e Al 7 AHET Tear amww
(4) ATTEH ST AT-SIT Foel 377




[Question ID = 131][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q101]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

3 fader - [FaEfafad FEaT #7 9897 75 T07 T4 % G99 97w 0 7
ey @t AT |
Frg =T AT T2 377 J9T 2,
ST g THE 217 | 39T 98 T8 |
T ATE S UF | gl AT g
ST 92 1947 38 AT | Ar=4 91 a7 g |
arggiy it B Feradr £ 97 Fag Far T g 2

(1) =Y FT FIAT T qTHAAT
(2) THT F THTT Tl AT
(3) THT 9% THIT TTHT F2AT
(4) =< SET 7 = B

[Question ID = 132][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

4 fader ; [Aaforfad Fiaar #i7 T8¢ e 70 T41 & Tgi/aad J9g < a7
fAFeT #1 A7 |
Fre =T F9w 71 977 F0AT 2,
ST Tg JH g1 | TEAT 4 qIAT 2 |
TSI &1L ST T 7T
FH o Tl AT AT AT 8
ST 4% HIAAT A AT | A= T a7 2 |
Tt gTIOrT T ITF FAT F AT
(1) §=9T9 07 =EgF Haar g
(2) S=aTa e g
(3) HTT-HAT 17 e &
(4) STerT-agersr ateors a2




[Question ID = 133][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

5) fader - [AeEfafad FEar #7 9897 75 T07 T4 % Gg/a99 97w o< a7
ey @t AT |
T =Tk HAT T2 97 AT g,
ST g THE 217 | 39T 98 T8 |
T ATE S UF | gl AT g
ST 92 1947 38 AT | Ar=4 91 a7 g |

AT AT g
(1) ST ATA= T4 3
(2) TTETFFA 2
(3) ST TR &

(4) v arfeRarTet 3

[Question ID = 134][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

6 fader ; [AEfafad wlaar #if 9297 T& 70 T4 & Tg/aad g9gw Ia a7
fAFeT #1 A7 |
Fe =Teh (AT T1 797 AT 2,
ST Tg JH g1 | TEAT 4 qIAT 2 |
T ATL S TF | g ATLCE
FH o Tl AT AT AT 8
ST 4% HIAAT A AT | A= T a7 2 |
oo oreT agTe

(1) =IT%
(2) 7=

(3) =IT%
(4) e



[Question ID = 135][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- HIN_Q106-120_L1_P1_CTET
O g § e forar F de § agaraane F o wre-an wyw w5 g ?
(1) TEATITETE T T RT AT A7 ==t = foreqor-afanrs 5 for v Jema+ +

=7 H g1 AT |

(2) TgATioes FATAT 1 T2 I2oF ¢ 6 Ad Bt gt 9% o997 g qgw q
CIP AR T ke S E ol

(3) AT FAT H Feaoh TH=mei =7 S3ST Hig=1 ATig 0 AT TS ATETH
F=mera / ggAr =J1iE T |

(4) TEATTUH FAT H T4 o KT AGATHT F 90 e g fZw=1, T disii 29
FTE T A ATaT g F1e |

[Question ID = 136][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

2) srr foreror F T SUwTH H wET 95 ATEit F o 97 e 2 S g awa
FoF s g Fagaw ?

(1) AT o RgT SUmTH

(2) TEIT AT IIETH

(3) FTEATHF IUTTH

(4) TETOMHF ST
[Question ID = 137][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

Y AT HHI AN A A WE § S
(et sRamisfmawm Rt s sa g
(2) ATHT & WANT & S99 § THAHT JIAaH1 60 ST 590 g
(3) form= meFEHT AT AT 2
(4) THFFETT AT FT e F g
[Question ID = 138][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q108]
1. 1 [Option ID = 549]

2. 2 [Option ID = 550]
3. 3 [Option ID = 551]




4. 4 [Option ID = 552]

4) HET TT T ALATIOHT FOF FA=TIAT 1 FgW1 G197 FHT THATATRT ITRH FT
AR FA1 2 | IH ATHT FEAT H T ik 7 AT qg) HoAT1 Mg ?
(1) FgTer it e & Featea =i F 7@ 1 1 "8 o9 Jiey
(2) FETT F Avel T ATHTH o % ATGL 37 AT
(3) FETT FT H5EF Foh HAT | AU FH7AT ATZT
(4) gt % 9 97 a7 F H#iF 39 A0
[Question ID = 139][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]

3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

U R e e e e e S e e 8 8 e 0 e e M s e
=T 1 SETEEm 2 2
(1) 57 S=dT g ot =R T AT #ga 2
(2) 95 JATE & ATT Tl a1 T4 ¢
(3) o7 et 79 AT sto=res 9 & T FAT 97 9155 &1 AT @d g, 5
‘T HT FTA
(4) TF T FTAT & AT FT L g
[Question ID = 140][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

6) T foream & Toe ST H 9 & yid TH a9 Ff S9g ATRAT & Adwal Hl
I F7A 9L 9 RATFEr 8 2

(1) =TT FeATE FEfd

(2) TEITOTE S SITH

(3) wemr e

(4) HT=ATHF SATH
[Question ID = 141][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]



7) EA TEA T E ?

(1) F¥HLT AT OT T3

(2) T T

(3) T & TH

(4) TTREE 75
[Question ID = 142][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q112]
1 [Option ID = 565]
2 [Option ID = 566]

3 [Option ID = 567]
. 4 [Option ID = 568]

8 fRefortag o & FF-a1 Tarar s aqm g 2

(1) T § FH5Te
(2) =afer, AT AT 9T5aT T IASTT IT AT AT § AT
(3) TIEATIIT T FTHARN F T &aie (Aot o Sy &7 215 & 94T °
FEATE
(4) T or==T FT 99 FA T 9B 3, Irg AHAT H HSATE
[Question ID = 143][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q113]
1 [Option ID = 569]
2 [Option ID = 570]

3 [Option ID = 571]
4 [Option ID = 572]

9 fRaferfad § & F9-97 T30 FT ITH19T dgle ?

(1) TETZAT T FHeAT

(2) AETT TITAT

(3) & T T

(4) =T FweAT
[Question ID = 144][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q114]
1 [Option ID = 573]
2 [Option ID = 574]

3 [Option ID = 575]
4 [Option ID = 576]

A wnN =

A w N =

A w N =



10) gz & A1¢ H AHieiEd H99 ugs dagt @weq 1 999 57
(A) 737 TF THT AT g a9 arEi |/ 999 S S o F=amr
F AT Y0 AT ST g
(B) Te=ifsw 1@ gu ore=i =T A3l d4g & IPTed Fed F @0 F0 F
THAT & AT & ATI-ATT AAT-LATT T F FATT FT TEAATA HTed Al
AT E |

(1) (A) &= (B) 3191 75T &

(2) (A) 7T g T (B) T 2

(3) (B) =T g e (A) T 2

(4) (A) &7 (B) TH1 7T §
[Question ID = 145][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q115]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

1) =HeT 27 AT ALATUHRT ATAT FAT H Tiod AHE TEAY T T F2471 J12gai 2 | 98
Feferiaa § | -9 F1 F7aT a5l g ?

(1) FATE 97 ITATF AT T FgHT AT 2T AT

(2) FFT =T FRIAT AT
(3) T AT ST 0 FATH = [0 STATE T2 Ter A q9eAt & = =

(4) 7tz T = sgame sgi 7 fores & o sz

[Question ID = 146][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q116]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

2) f= arar Fro@l w e ¥ oy 3y oAt g ) fefea g 0
Fr-HT gr=or Frerer F = F ©rm uge i S ' g 2

(1) FEATTH FgWT § AT TUAT KT G ATFAF] HT 0T FH2A A I =57
(2) FFT T FEHT U8 F o0 Fgr iy
(3)TFT T ATE T@T TR AT TATH & [o1T Fgl ST
(4) FGT =T AT T TGN T Fgol Teqd Hd & (00 Fgl ST
[Question ID = 147][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q117]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]

3. 3 [Option ID = 587]
4. 4 [Option ID = 588]




3) FAeT qTaT I T ° HEd g e avg T TG & d@ghon T [Weaad &
LT | F+ T2 FI90A T FHAT | AT 17 7 T A= B swafeaa 22
(1) HATTHF SIETH
(2) 1T TATTH
(3) FHFZTATAT ITHH
(4) AT - o SIRTH

[Question ID = 148][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q118]

1. 1 [Option ID = 589]

2. 2 [Option ID = 590]

3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

14) Fqi\ =Fiaeht 7 ag = R on B a9y agea ariuF q67qr F v =51 g g
| 20 FHar F1 et guteata § ofvaer 7 s A/ Fa9 & /98T g1 #ir
wEd g ?

(1) ATHT FSIT TTFLT

(2) ST ATETH ITFC

(3) ATHZIT A TTHIIT

(4) ATERTT AT ITHTT
[Question ID = 149][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

15) FFT FI FATHT TZHA F ®T F qTAT =7 FT F1% 30 FgAAt 987 5 oy Fz7
STAT 2 | 9 9928 | Irg T Fed & o0 qrearizd Han & 21 g 2

(1) T& 73

(2) Frega 75

(3) FTHLT /1T 9T U5
(4) TV 7 T3

[Question ID = 150][Question Description = CTET_P1_PART_4_L1_SET_125_HINDI_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

By ‘calling it a day’ the writer means

(1) ending/concluding something.
(2) beginning something.
(3) deciding to meet someone.

(4} going off to see someone.

[Question ID = 181][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q121]

A W N -

1 [Option ID = 721]
2 [Option ID = 722]
3 [Option ID = 723]
4 [Option ID = 724]



2) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

Paithan is not famous for

(1) its silk sarees.
(2) its gold and silver jewellery.
(3) the Jaikwadi Dam.

(4) its beautiful, colourful weaves.
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3) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

The writer was most impressed with his visit to Aurangabad because of

(1) its exquisite architecture.
(2) the large number of monuments that can be visited here.
(3) its proximity to the Ajanta and Ellora caves.

(4) the peaceful co-existence of the past and present here.
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4) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

The word underlined in the phrase ‘excessive ravages of modern life’ is an example of

(1) Adjective
(2) Noun

(3) Adverb
(4) Verb
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5) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

Ajanta is a popular tourist spot because
(1) of its Tiger Hill.
(2) of its frescoes and paintings.

(3) of its view of the Ajanta caves.

(4) of its closeness to the historical town of Aurangabad.

[Question ID = 185][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q125]

A W N -

1 [Option ID = 737]
2 [Option ID = 738]
3 [Option ID = 739]
4 [Option ID = 740]



6) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

Which of the following words is closest in meaning to the word 'exquisitely’? (para 1)
(1) intricately
(2) delightfully

(3) joyfully
(4) deliberately
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7) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

Which of the following words is opposite in meaning to the word ‘perseverance’?

(1) Determination
(2) Doggedness
(3) Procrastination
(4) Grit
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8) Directions : Read the passage given below and answer the questions that follow :

1. If you have time on your hands, a trip to Paithan, a few kilometers from Aurangabad, is
recommended before calling it a day. It is famous for the Jaikwadi Dam and even more popular
for the exquisitely woven and brightly colored Paithani silk sarees with rich silver or gold
borders. Before taking the bus back to Mumbai you must remember to pick one up!

2. The Ajanta caves were our final destination. Located about 104 kilometers away, it is a two-
and-a-half-hour drive from Aurangabad. Consisting of 29 rock-cut cave monuments, the Ajanta
caves were an outstanding display of craftsmanship, testimony to the perseverance of the
artists.

3. Dating back to the 2 century BC, the caves house some of the best paintings and
sculptures of this age, considered to be masterpieces of Buddhist religious art. The frescoes on
the walls of the caves are breathtakingly beautiful. Stripped of much of its grandeur with the
passage of time and due to neglect, the remnants of colour on the frescoes on ceilings and
walls live on as a silent withess of its heyday. The Tiger Hill close by, easily reached by car,
offers an impressive panoramic view of the horse-shoe-shaped Ajanta caves and the
surrounding area.

4. As a student of history, with a special love for historical architecture, the fact that | would be
left spellbound by Aurangabad is no wonder. But today when | look back, | realize that itis
much more than just history that captured my heart. It is the peaceful co-existence of the past
and the present and the simplicity that the city exudes that left an indelible imprint on my mind.
Being closely intertwined with history and spared from the excessive ravages of the modern
world, Augranbagad and its vicinity has a distinct charming character of its own.

From the text it is evident that the writer is most interested in
(1) politics
(2) religion
(3) history

(4) architecture
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1) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

Heidi had forgotten about her hunger because she had been

(1) busy locking around her grandfather's house.
(2) looking at the beautiful mountain scenery.

(3) busy talking to her grandfather.

(4) busy making her bed.

[Question ID = 189][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q129]

A wWw N -

1 [Option ID = 753]
2 [Option ID = 754]
3 [Option ID = 755]
4 [Option ID = 756]



2) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

Grandfather toasted the cheese by

(1) putting it directly on the fire.
(2) putting it on the hearth.

(3) putting it on a fork.

(4) putting it inside a kettle.
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3) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

The fact that Heidi was used to housework can be seen from the fact that she had

(1) helped her grandfather clean his room.
(2) laid the table perfectly.
(3) lit the fire in the hearth.
(4) helped her grandfather cook breakfast.
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4) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

The word ‘perplexity’ (para 5) used in this text means

(1) certainty
(2) confusion
(3) annoyance

(4) irritation
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5) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

‘Without an instant's loss of time’, means
(1) urgently

(2) immediately

(3) seriously

(4) sincerely
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6) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

The relationship of the grandfather and the granddaughter as depicted here appears to be one
of

(1) surprise and excitement.

(2) surprise and appreciation.

(3) appreciation and respect.

(4) admiration and generosity.
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7) Directions : Read the passage given below and answer the questions that follow :

1. “l think we might have something to eat first,” said the grandfather, “what do you think?”

2. Heidi in the excitement of bed-making had forgotten everything else: but now when she
began to think about food she felt terribly hungry, for she had had nothing to eat since the
piece of bread and little cup of thin coffee that had been her breakfast early that morning
before starting on her long, hot journey. So she answered without hesitation, “Yes, | think so
too.”

3. “Let us go down then, as we both think alike,” said the old man, and he followed the child
down the ladder. Then he went up to the hearth, pushed the big kettle aside, and drew forward
the little one that was hanging on the chain, and seating himself on the round-topped, three-
legged stool before the fire, blew it up into a clear bright flame. The kettle soon began to boil,
and meanwhile, the old man held a |arge piece of cheese on a long iron fork over the fire,
turning it round and round till it was toasted a nice golden yellow color on each side. Heidi
watched all that was going on with eager curiosity. Suddenly some new idea seemed to come
into her head, for she turned and ran to the cupboard, and then began going busily backwards
and forwards. Presently the grandfather got up and came to the table with a jug and the
cheese, and there he saw it already tidily laid with the round loaf and two plates and two knives
each in its right place; for Heidi had taken exact note that morning of all that there was in the
cupboard, and she knew which things would be wanted for their meal.

4. “Ah, that's right,” said the grandfather, “| am glad to see that you have some ideas of your
own,” and as he spoke he laid the toasted cheese on a layer of bread, "but there is still
something missing.”

5. Heidi looked at the jug that was steaming away invitingly, and ran quickly back to the
cupboard. At first she could only see a small bowl left on the shelf, but she was not long in
perplexity, for a moment later she caught sight of two glasses further back, and without an
instant’s loss of time she returned with these and the bowl and put them down on the table.

Heidi watched all that was going on with eager curiosity. The underlined word is an example of
afan

(1) Noun

(2) Adjective

(3) Adverb

(4) Pronoun

[Question ID = 195][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q135]
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1 [Option ID = 777]
2 [Option ID = 778]
3 [Option ID = 779]
4 [Option ID = 780]
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1) ‘Children start out as clean slates and language learning is printing of linguistic habits on these
clean slates.’
This idea is supported by

(1) Piaget
(2) Vygotsky
(3) Chomsky
(4) Skinner

[Question ID = 196][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q136]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2) Which one of the parameters is notimportant for assessing paragraph writing ?

1) Topic sentence

3) Good Handwriting

(
(2) Supporting details
(
(4) Coherence

[Question ID = 197][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q137]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3) For dealing with difficult words in the text, a language teacher first converts the words into
mother tongue and then asks the students to memorise it. She is using

(1) Grammar translation method
(2) Direct method

(3) Structural approach

(4) Communicative approach

[Question ID = 198][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q138]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4) The three stages of phonological awareness are

1) syllables, words, sentences

3) syllables, rhymes, phonemes

(2) sounds, pitch, tone
(4) depth, speed, rhythm
[Question ID = 199][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q139]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]



5) A teacher gave a worksheet to the students based on the summary of the chapter read and
dropped every fifth word from it. She asked them to fill the missing words. What is this test
known as ?

(1) A cloze test

(2) Fill in the blanks

(3) Complete the summary
(4) Writing test

[Question ID = 200][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q140]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6) Which of the following statements is pot true for reading ?

1) Reading is sounding out words and decoding

(

(2) Reading is constructive

(3) Reading is the ability to read, process and understand the text
(

4) Reading is the ability to understand the meaning the author is trying to convey

[Question ID = 201][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q141]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

7) Alanguage teacher gives a task to identify adjectives used for the main character in the story
to her 5" Graders. This reading activity is

(1) Intensive reading

(2) Extensive reading

(3) Skimming

(4) Collaborative reading

[Question ID = 202][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q142]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

8) Which of the following statements is true for enhancing pronunciation skills in children ?

(1) Students should practice pronunciation so that they sound exactly like native speakers.
(2) Students should be made to repeat words many times in a day.

(3) Students should be helped to have intelligible pronunciation.
(

4) Teacher should conduct pronunciation drills to make them pronounce like native speakers.

[Question ID = 203][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q143]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]



9) In alanguage class students are asked to write "How they celebrated their birthday”, Then they
are asked to exchange their writings with their partner and give feedback. This type of
assessment is

1) Summative Assessment

(
(2) Group Assessment
(3) Peer Assessment

(

4) Self-Assessment

[Question ID = 204][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q144]
1 [Option ID = 813]
2 [Option ID = 814]
3 [Option ID = 815]
4 [Option ID = 816]
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10) Which of the following is true for ‘Dialect’ and ‘Accent’ ?

(1) Accent relates to the actual language used and dialect refers to the way that language is
spoken.

(2) Accent refers to colloguial words and phrases that often reflect identity and dialect refers to
the way the language is spoken.

(3) Dialect relates to the actual language used and accent refers to the way that language is
spoken.

(4) Dialect refers to colloguial words and phrases that often reflect identity and Accent refers to
the technical vocabulary to help people articulate experiences, events and concepts in

specialized contexts.
[Question ID = 205][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q145]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11) Ateacher can make her students effective speakers by

1) Asking them to narrate the stories which they have memorised.

(
(2) Making them learn few sentences they need to use during social interaction.
(3) Providing opportunities to express themselves in class.

(

4) Making them learn and speak the paragraphs they need to reproduce during term-end

exams.
[Question ID = 206][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q146]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12) In preparing a fourth class to take a standardized reading test, the teacher is best advised to

(1) tell the children the test is very important and they should do the best they can.
(2) coach the below grade level readers, as the rest of the class will do well anyway.

(3) give the learners practice in answering questions similar to the type that will appear on the
test.

(4) ditto key guestions from a previous test and allow the learners to answer them.

[Question ID = 207][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q147]



1 [Option ID = 825]
2 [Option ID = 826]
3 [Option ID = 827]
4 [Option ID = 828]

A wnN =

13) In a class students are asked to compile portfolios of their written work for summative
assessment e.g. choosing their best six pieces of writing. This type of assessment is
(1) of no use
(2) student friendly
(3) teacher-centered
(4) not an assessment
[Question ID = 208][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q148]
1 [Option ID = 829]
2 [Option ID = 830]

3 [Option ID = 831]
4 [Option ID = 832]

A wWw N =

14) Given below are two statements about language learning. Read the statements and choose the
correct option.
(A) An individual can learn a language at any age but it is easier to do so at a younger
age.
(B) Language can be learnt through exposure.

(1) Both (A) and (B) are true
(2) (A) is true but (B) is false
(3) (B) is true but (A) is false
(4) Both (A) and (B) are false

[Question ID = 209][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q149]
1 [Option ID = 833]
2 [Option ID = 834]
3 [Option ID = 835]
4 [Option ID = 836]

A wpN =

15) During a writing activity in class, teacher asks students to brainstorm on the theme of writing
given to them. This is a strategy for stage of the writing process.

(1) Prewriting
(2) Reviewing
(3) Drafting

(4) Publishing

[Question ID = 210][Question Description = CTET_P1_PART_5_L2_SET_125_ENGLISH_Q150]
1 [Option ID = 837]
2 [Option ID = 838]
3 [Option ID = 839]
4 [Option ID = 840]
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